
Nazgul DC5 ECO V1.1 

Frame Assembly Guide

M3 lock nut

3.

x5

28. x2

29. x3

32.

6.

Motor wire protector x4

7.

Battery pad x2

IPEX直头转SMA直头内针转接线

M5 nut x1

Allen wrench x1

20*250 Battery strap x2

30. x5

5.

4.

M5*20 hex screw x1

x1

x1

8.

x4

7.

9.

x1

11.

x1

5.
ArmB x2

13.

x1

17.

x5

18. x6

6.

x1

19. x5

Top plate x11.

ArmA x2

4.

Counter plate x12.

20. x5

M3*10 hex screw

22. x5

M3*14 hex screw

x1823.

21. x5

M3*8 hex screw

x325.

26. x5

M2*5 hex screw

x524.

12.

x2

GoPro bottom stand TPU

15.

x1

16.

x1

Arm guard TPU

M3*30 hex screw

M3*8 wash head hex screw

M3*9 hex screw

M3*22 

M2*8 wash head hex screw  

LED logo TPU

Antenna TPU 

Silicone camera side plate

GPS mount TPU

M2*8 self-tapping hex screwBottom plate

2.

1.

Additional par

M3*29 

M3*6 hex screw

M2*25 

27.

x5

3.

Front bumpers TPU

10. x1After bumpers TPU

IPEX to RP-SMA F Adapter Cable x2

14. x1Buzzer holder TPU

31. x3M2*6 countersunk hex screw

33. x2

34. x2Side panels

接收机座 TPU
Receiver Mount TPU

M1.6*10 内六角螺丝
M1.6*10 socket head cap screws

DJI O4 Pro版本使用此CNC&硅胶侧板&M2*6螺丝
The DJI O4 Pro version uses CNC & silicone side panel
with M2*6 screws.

DJI O3版本使用此CNC&硅胶侧板&M1.6*10杯头螺丝
The DJI O3 version uses CNC & silicone side panel
 with M1.6*10 cup head screws.

Anti-Spark filter wiring diagram

+

-

IN

V+

ESC O
U
T

通用贴纸V4
Sticker V4



Nazgu ECO Side Panel Installation Diagram

First, insert the opening of buckle 
A into the aluminum column of the middle plate

Then, bend the side panel and insert
buckle C into the rear aluminum column

column, apply slight force, and hear a  "click" sound to 
complete the installation

Repeat the same steps for the right side panel


